SHAE10A 28T
EABSERRY BHRER(EEIR

FIZGRFREZI| 19 |8B| 30 |&| HEERZ 20 |#| 40
P
BuBES | mEEg EIRD B T RRE
1 KNIl &KL= wmiTE 602
10 H1=%G~ 8, wmiTE 486.687
2 =g (F0C \|ATE 436
8 SALLITES \|ATE 395
3 EXR #UL\C wmirE 380
9 Bl FEhE \ATE 378.312
4 =i KLY wmirE 357
5 ZR =1L |ATE 317
11 TtHESB wmirE 214
6 FRE & \|ATE 206
7 ik HoL |ATE 68
BFERH (A) 3,840
RO DE. DIVETH-E# (B) 0.001
AN DIFEEEICEBIHNVER (C) 0
AEVRES [(A)+B)+(C)] (D) 3,840
mNRES (E) 40
BRERE [(D)+ (E)] (F) 3,880
IR ER [(E).~(F) x100] 1.03
BHlRYZ Dt (G) 0
BREZLH [(F)+ ()] 3,880
FREREEEER S

G




